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QUESTION 1

What is the standard deviation of the following data? 

3.2, 3.1, 3.3, 3.3, 3.1 

A. 3.2 

B. 0.0894 

C. 0.1 

D. 0.0498 

Correct Answer: B 

 

QUESTION 2

The following measurements for a sample with dimension X are representative of a process known to be in statistical
control 

42, 52, 64, 45, 53, 56, 70, 57, 49, 62 

Which of the following values BEST approximates the upper and lower control limits of the process capability. 

A. 81 and 29 

B. 59 and 51 

C. 64 and 46 

D. 70 and 42 

Correct Answer: A 

 

QUESTION 3

Information that is received by upper management, is often distorted. Which of the following actions is effective in
countering this problem? 

. Stop killing the messenger. . Establishing an open door policy. . Practice management by walking around. 

A. Ionly 

B. IandIIonly 

C. IandIIIonly 

D. I,IIandIII 

Correct Answer: D 
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QUESTION 4

The basic elements of an ultrasonic test systems do NOT include which of the following? 

A. A transducer. 

B. A test object. 

C. A laser beam. 

D. An electronic system. 

Correct Answer: C 

 

QUESTION 5

A two-way analysis of variance has r levels for one variable and c levels for the second variable with 2 observations per
cell. The degree of freedom for interaction is 

A. 2(r)(c) 

B. (r-1)(c-1) 

C. rc-1 

D. 2(r-1)(c-1) 

Correct Answer: B 
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